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99 1. Kinematics of Particles ( 25 Azlun)
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498 2. Force and Acceleration ( 25 Azuuu)

2.1) Select appropriate coordinate system for each of the following 3 motions of the particle by
drawing reference axis, forces acting on the particle, the direction of particle’s acceleration onto the
diagram and writing down the corresponding equations of motion for each system. (6 marks)
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rg 2F:may =m [ ¥-167]
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2.2) A b kg block B rests on the upper surface ofa a kg wedge A which in turn rested on the
a degree incline surface as shown on side view diagram. All surfaces are considered smooth.
There is a constant tangential force ( P ) acting on wedge A causing the motion of wedge A
on the incline surface as shown as a curve on the front view diagram. The curve is described
asr=ct mand 8 = dt rad. Draw the Free Body Diagram and Kinetic Diagram. Find the force
acting on wedge A by block B and by incline surface and the tangential force at the instant T
seconds. (3, =r"-r@'"% ag=r0" +2r'0', tan W =r / (dr/dB)) (19 marks)
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48 3 Work and Energy (25 ATUWW)
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